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CLASS Xth
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Time Allowed : 3 Hours Maximum Marks :
100

farg frdor :
Special Instructions :
1. w1 % IR S0 WHA ST Y AT Y- W q90E T, S
gferr W ol v e fem st 2
While answering your questions, you must indicate

on your answer-book the same question number
as appears in your question paper.

2. UT% YR ST-Yfkrert & == H Her wiferg )

Graph paper must be attached in between the
answer book pages.

3. @I ATl WAl | SRt s At
Drawing diagram of geometrical questions is
compulsory.

4.7 T H 47 Tl I 4 WS A, T, 9, TH o TGS
- 3 T " 19 12 T, T 9 1Y% 7Rt ot § | for
YFE 10 799 FE € I TR @S - 95 g g@n 13 ¥ 23 T
THFE T 2 AR HE, T IR S TAFAE 1@ve - TH
T HE 24 F 40 TF W W 3 o v &, o |
13 W9 %A B 190 - S H el U §e 41 § 47 0%, TS
WY 6 3! a1 B | oA 9 wiE 5 W R §
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Question paper consists of 47 questions divided into
four sections A, B, C and D. Section ‘A’, from
question number 1 to 12 of 1% marks each, from
which students have to attempt any 10 questions.
Section - B from Q. No. 13 to 23 of 2 marks each,
from this section students have to attempt only 8
questions.
Section - C from question no. 24 to 40 of three marks
each, from this questions students have to attempt
only 13 questions.
Section - D from question no. 41 to 47 of 6 marks
each. Students have to attempt only 5 questions.
e - A
(9o HE 1% 12 7 T 99 116 ST 1 &, 379 9 =g 10 994
w1)
(Question No. 1 to 12 carry 1% marks each, do any 10
questions from them.)
1. 140 % 19 HEE T
(@) 52x2x7 (B)5x2x7% ()5x22x7
The prime factors of 140 are :
(@ 52x2x7 (B)5x2xT% ()5x22x7

(@) 1 (b) 2 ()3
Degree of a linear polynomial is ................... :
(a) 1 (b) 2 (c)3
3. ¥fgeh Ffie T 2x + 3y =9, 4x + 6y = 18 FTAE :
(@ 7 TF (b)) FETE (c) srffafy w9 # ov
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The pair of linear equations 2x + 3y = 9, 4x + 6y =
18 has solutions :

(a) Exactly one (b) No solution (¢) Infinitely many
4. Tom TR ax? + bx + ¢ = 0 % <1 AR A1 ST Hel
(a) b2 —4ac =0 (b) b - 4ac > 0 (c) b% — 4ac < 0

Quadratic equation ax? + bx + ¢ = 0 has two real

and different roots, if

(@) b% —4ac =0 (b) b2 - 4ac >0 (c) b% —4ac < 0
5% AP Ha=7,d=3,n =83§f‘cﬁan: ............

(a) 28 (b) 38 (c) 18
InanA.P.a=7,d=3,n=8thena, =........... .
(a) 28 (b) 38 (c) 18
6. TEARTIEH T 3 791 (3)2 + (4)% = oo )
(@) (2)2 (b) (5) () (7Y
According to Pythagorus theorem
(8P + (4)? = v ;
(@ (2) (®) (5)* () (1)
T.AP.-5,-1,3,7 .cccveene 1 TSR BT ?
(a) -8 (&) 3 (c) 4
Common difference of A.P.-5,-1,3,7 ........... will
be
(a) -8 (b) 3 (c) 4
8. Trriofid weafist sin0 + c0s20 = ............... ;
(a) 1 (50 (e)-1
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Trigonometric identity sin0 + cos20 = ............. :

(@)1 b)0 e)-1
9.7k rIuF e ®, WD = oo .

(a) mr (b) 2r (c)rf2
If ‘¥ is the radius of circle, then diameter D =..............
(a) mr (b) 2r (e) r/2

10. a1 T AT F YT F
(a) 2/37r® (b) 4/3 nrd (¢) /3 nr®
Formula of volume of sphere is :
(a) 2/37r3 (b) 4/3 r® (c) 13 nr®

11. fet g =1 et T =9 TR fargetl o el &heeft § 1
(a) 1 (b) 2 ()0
A tangent to any circle touches it how many points.
(a) 1 (b) 2 (c) 0

12. srEwa 1 1 g §
(a) 1 (b)0 (e)-1
Probability of an impossible event is :
(a) 1 b0 (c)-1

“Eus - F

(Section - B)
(W HE 13 | 23 T eIT WY 2 0% I T 1T 4 B 8 WA
F 1)
(Question No. 13 to 23 carry 2 marks each. Attempt any
8 out of them.)
13. (-5, 7) 9 (-1, 3) fageii % g™ & e T 910 4|
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Find the diatance between the points (-5, 7) and
(-1, 3)

14. gorfi 26 %X 91 =1 H.C.F. i L.C.M. 9ma =ifsr |
Find the H.C.F. and L.C. M. of integers 26 and 91.

15. f5am wgus &2 — 2x — 8 % Y% S it |
Find the zeros of the polynomial x% — 2x — 8.

16. frefafay tas T 3= 1 faomm fafa & o S|
x+y=5
2x—3y =4
Solve the following hair of linear equations by
ellimination method.
x+y=5
2 -3y =4

17. =@ fag & fasere T wiferg it fagei (<1, 7) @0 (4, -3)
%1 fierm a1t Tarave @1 2 ; 3 % sqa 8 fafma s g
Find the co-ordinates of the point which divides
the join of (-1, 7) and (4, —3) in the ratio 2 : 3.

18. 4% 15 cot A = 8 €1 11 sin A 31T sec A &1 M 914 HiTsT |
Given 15 cot A = 8, find sin A and sec A.

19. 7 fe= 1§ 5 o 9, 8 A 9 iR 4 sl H= ¢ 139 fe=
T Tk el AGTSAl TR S § TEel # witgewd § TR
forahrem T sk (i) @l € 2 (id) WHRE ?

A box contains 5 red marbles, 8 white marbles and

4 green marbles. One marble is taken out of the
box at random. What is the probability that the
marble taken out will be (1) red ? (ii) white ?
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20.3f% P (E) = 0.05 %, @ ‘E 781 = wifesran a;n & 2

If P (E) = 0.05, what is the probability of ‘not E’.
21. T 3825 &I HWT UGS % IR & FI H oI

e |

Express 3825 as a product of its prime factors.
22. 7 T4 SHiferg |

sin 60° cos 30° + sin 30° cos 60°

Evaluate : sin 60° cos 30° + sin 30° cos 60°

23. Frefafaa A.P. & fau 9o 95 921 96— 311 91d Hie |

R 5 A [N L I—
For the given A.P.—5,-1,3, 7 ............. find the first
term and common difference.

© s - |
(Section - C)
TUT - FH YT HEA 24 F 40 TH TAF T 3 SFHF FE T H A AR
st 13 W shiferm |
Section - ¢ consists questions from 24 to 40. Each carry 3
marks each. Attempt any 13 questions from them.
24. Tt e
x+3y=6
2x — 3y = 12 =i TRt oty ¥ g wifsg)
Solve the following system of linear equation
graphically :
x+3y=6
2x -3y =12
925, =1 tiger Tt 71 =i wfewere fafy g ga it
x+y=14
x—y=4
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Solve the following pair of linear equations by the
substitution method.

26. 10 3T 250 % == o 4 % fope o= € |
How many multiples of 4 lie between 10 and 250.

l+sin A

27 wrEafer fag wifsg . 1—sin A =SecA+tanA

. . 1+sin A
Prove the identity : 1—sinA =sec A+tan A

28. WM 14 HI :
2 tan? 45° + c0s230° — sin60°
Evaluate : 2 tan? 45° + cos230° — sin260°

29, Traiia wifee fF = o (1, 5), (2, 3) 3R (-2, —11) Tt
=
Determine if the points (1, 5), (2, 3) and (-2, —-11)
are collinear.

30. fagaii (=3, 10) &R (6, —8) Tl Srgd A T@rEvs =l fag
(~1, 6) forar s & fawfsra e 21
Find the ratio in which the line segment (-3, 10)
and (6, —8) is divided by (-1, 6).

31. 6cm T2 1 UF 99 Wifaw | F% | 10cm T from v fag
g W Ew T g T e S S e
T |
Draw a circle of radius 6em. From a point 10cm.

away from its centre, construct the pair of tangents
to the circle and measure their lengths.
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32. 6em fomo o8 T 99 % T F1 dmwe T =, o
FI9 60° 1B
Find the area of a sector of a circle with radius
6cm, if angle of the sector is 60°.

33. 7% Bl H 31 99 ¥ S W @ R @ g E DA H
45cm T3 9T U H9E 99 WG g, THRN & FHENA A=
& = AR T Fe |
An umbrella has 8 ribs which are equally spaced.
Assuming umbrella to be a flat circle of radius

45cm. Find the area between the two consecutive
ribs of the formula.

)

34. % F= F UE TH T g, FoEeh wesl W fefatad B
Sﬁﬂaﬁ%ﬁﬁ%’

D]
H UE I Tk R ekl ST € | SHeR T & WIeehal § 196 (1) A
=t &1 ? (i) D v =t ?
A child has a die whose six faces show the letters

as given below.
D]
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The die is thrown once. What is the probability of
getting (()A? (@)D ?

35. T T % W T wgs ABCD @i e @ fag i
AB +CD =AD + BC

7

A quadrilateral ABCD is drawn to circumscribe a
circle. Prove that AB + CD = AD + BC.

2
N

A

36. AEHEfF fag wifag

cos A 1+sin A
1+sinA ¥ cosA

=2 secA
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Prove the identity :

cos A 1+sin A
l+sinA ¥ cosA = 2secA

37. smFfa § DEI IBC #1 EC 3 ®ifsg |

1.50/ icm
7S
30/ ¥
V4

In fig. DE| IBC. Find EC ?

1.5¢ / ?1 cm
7 |
3c / ?
7

38.39 A.P. %1 3141 w5 9 wifay, fawerr 11491 95 38 € 3R
1697 9 73 ® |

Find the 31st term of an A.P. whose 11th termis 38
and 16th term is 73.

39, TrEe fafe | fgem weE 10022 — 20x + 1= 0 % 9
2T RIS |
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40.

Find the roots of the quadratic equation 100x2 —
20x + 1 = 0 by factorisation.
T it fasmst wfsan g =asy fF ufims wen 64/455
YT TER |G & A1 S ?
Without actually performing the long division state
whether the rational no. 64/455 is a terminating
decimal expansion or a non-repeating decimal
expansion.

@ us - ]

(Section - D)

T T 41 | 47 T WoIh W 6 1 1S, TH H 5 T A |
Questions Nos. 41 to 47 carry 6 marks each. Do any 5

41.

42.

questions from these questions.

3 54 4 TeHH F &g (F6 §) T oA i1 @@ ¥ 5 99
TYEI $F F FehH w1 AN 1/3 ¥ | SHE! a09H S 916
I |

The sum of the reciprocals of Rehman’s ages (in

years) 3 years ago and 5 years from now is 1/3.
Find his present age.

g wifs & afk fFlt e %1 ©F o0 % 99w o=«
senett &1 fam-fom faget w wfiess 0 & fog o @
I S, W 9 o7 T ST U g1 S H fafer &1 st
g

Prove that, if a line is drawn parallel to one side of
atriangle to intersect the other two sides in distinct

points, the other two sides are divided in the same
ratio.
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43. 4t % w g A, 5t #R F TR-fog ¥ 30m F W WE,
TR % R w1 s ®m 30° ¥ | HAR S W
I |
The angle of elevation of the top of a tower from a

point on the ground, which is 30m away from the
foot of the toweris 30°. find the height of the tower.

44, TF FOH Tk 36 IF b ATHR F1 ¢ | SUHT S Sem § R
T i (S gen g € 1) i 5o Sem ® 198 S 05 THL
Y W T T | 9E T A H A F T el (o wos
0.5cm T3 aren us et &, =Tl Wt €, 9 9HE 9 W gy
I 1 Teh =Ie1E 9T =18 el Siram € | =0 3 7ol 18 |
=T M H HE 9 B
A vessel isin the form of an inverted cone. Its height
is 8em and the radius of its top, which is open, is
5cm. It is filled with water upto the brim. When
lead shots, each of which is a sphere of radius 0.5¢cm
are dropped into the vessel, one-fourth of the water

flows out. Find the number of lead shots dropped

in the vessel.
45, Trefafeg s 225 faseh swR & Ufem sitem +a
(S ) g 33 ¥ | SR Rl Sgeieh Sie e Hd e |

ST e | 0-20 | 2040 | 40-60 [60-80[80-100 | 100-120
(¥t #)

IEERAT 10 35 52 61 38 29

The following data gives the information on the
observed life times (in hours) of 225 electrical
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components. Determine the modal lifetime of the

components.

Life time |0-20 | 20—40 | 40-60 |60-80 |80—100 |100-120
in hours

Frequency | 10 35 52 61 38 29

46. T TR IS i 18 59 SUR A Tem HH ¥ | 97 H0i
13cm =T &, a1 57 & ﬁaﬁaﬁaﬂﬁm
The altitude of a right triangle is Tem less than its

base. If the hypotenuse is 13cm, find the other two
sides.

47 . FreAfafiem e TF Tiees o 9= & S o9 T 9 |
e 5E @ T99 18 ¥ | o[ AERal 9 i |

Sfe =4 [ 11-13 [ 13-15 [15-17 |17-19 | 19-21| 21-23[23-25
Hedl

(T H)

Eciiet 7 6 9 13 ¥ 5 4
HEA

The following distribution shows the daily pocket
allowance of children of a locality. the mean pocket
allowance is Rs. 18. Find missing frequency f.
Daily 11-13 [ 13-15|15-17 |17-19 | 19-21| 21-2323-25
Pocket
Allowance
(in Rs.)
No. of 7 6 9 13 f 5 4
Children
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